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Question Number : 1 Question Id : 2549896437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which system uses two digits, 0 and 1, and is the foundation for all modern computing?
Options :

1. * Hexadecimal number system

2. % QOctal number system

3. % ASCII

4. % Binary number system

Question Number : 1 Question Id : 2549896437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



I T TUTTET (System) &l 3fab1, 0 3R 1 HT ITART el g, 3R Tt sy dogfen o1 Hia g2
Options :

1. % gHISUHd HeR fen

2. % 3fided AeR e

3. % ASCII

4, ¢ SR AR Ren

Question Number : 2 Question Id : 2549896571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the full form of SSD, a type of mass storage technology similar to hard disc drives?
Options :

1. * Synchronous Storage Device

2. #* Standard Storage Device

3. % Solid State Drive

4. % Standard State Drive

Question Number : 2 Question Id : 2549896571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TS &% S50 & THM TS UHR DI A KISl a1, SSD HT Juf =0 1 87
Options :

1. % Ripg wWiel fgargq

2. % LTS WRe fedsd

3. ¢ Jifcle W 134

4. % WTS W< I

Question Number : 3 Question Id : 2549897635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is also known as non-volatile memory as the information here is stored permanently until and unless it is deleted by the user?
Options :



1. ¥ ROM
2. ¥ RAM
3. ¥ Cache
4. % DRAM

Question Number : 3 Question Id : 2549897635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafafad & § fed R-amI=id (non-volatile) TARY & TU H +) ST STaT § i g8f THeR) 99 do W 70 T TIEId gidl & oid ao fb 38
UGN gRT gl el [T ST 82

Options :

1. ¥ ROM

2. % RAM

3. % P (Cache)

4. % DRAM

Question Number : 4 Question Id : 2549899205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not an example of system software?

Options :

1. ¥ Operating system

2. * Device driver

3. % Utility software

4. % Internet Browser

Question Number : 4 Question Id : 2549899205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafifad & 9 & 91 Red 9iucddr &1 ISeR0 11 82

Options :

1. % 3RfeT Rew



2. % {SagH QIR
3. % gfefardt UideaR
4. ¥ AT AR

Question Number : 5 Question Id : 2549899318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an input device?

Options :

1. # Keyboard

2. % Joystick

3. % Mouse

4. % Monitor

Question Number : 5 Question Id : 2549899318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

9 & 4 D @ U 39YC fearsd 8l 52

Options :

1. % ®lde
2. % SIGRED
3. % HI3Y™

4. ¢ HIFR

Question Number : 6 Question Id : 2549899329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The digital is a specialised device for storing, transferring and playing audio files.

Options :

1. ¥ media player

2. % printer



3. # gscanner

4. ® camera

Question Number : 6 Question Id : 2549899329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

feforea , TS HISE BT TR B, THR HA 3R TaM & o U e fearsa 3|
Options :

1. ¢ Hifsa @R
2. % fiiex
3. % W
4. % B

Question Number : 7 Question Id : 25498911014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The print speed of inkjet and laser printers is generally measured in:

Options :

1. ¥ pages per minute

2. %* characters per second

3. # pages per second

4. % characters per minute

Question Number : 7 Question Id : 25498911014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SPHoIC IR o fHex BT G077t 31 dR IR 9 # ¥ g Aues gRY A7t Siret 82
Options :

1. ¢ U Ufd ffFe
2. % gui yfd T g
3. % U gfd s




4. % gui gfq e

Question Number : 8 Question Id : 25498919040 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not true with reference to computer languages?

Options :

1. ¥ Low-Level languages are hard to understand by humans

2. # Debugging is hard in Low-level languages

3. # High-Level languages takes a long time to be executed

4. ¥ High-Level languages are machine friendly

Question Number : 8 Question Id : 25498919040 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HogeR UTIsT & Hey # Fufafed # 3 oF w9 e 82

Options :

1. % Y- YISl (Low-Level languages) @1 A% o g GHSAT B3 gidl g
2. % YR HIWIST (Low-level languages) H f&afiin &= g

3. % 3o WG HTOTSf (High-Level languages) @I FeTfed g9 | HIh! THg ATl %
4. ¥ I WG HTETY (High-Level languages) TN 3 d g 8

Question Number : 9 Question Id : 25498922562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which type of programming language follows a sequence of statements or commands in order to achieve a desired output?
Options :

1. ¥ Procedural

2. % Functional

3. # Object-oriented

4. % Modular



Question Number : 9 Question Id : 25498922562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

qifsd STITYC U HRA o (o7 [ s ThR B TR HTST U1 a7 SR & SIehH BT SIERUT Bl 87
Options :

1. ¢ JrtSrd

2. % ThaRMd

3. % Jffsoige-3NRNUes

4. % TSR

Question Number : 10 Question Id : 25498929721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Memory unit is one part of a(n):

Options :

1. * input device

2. % output device

3. #% control unit

4. % central processing unit

Question Number : 10 Question Id : 25498929721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TR, SIS Sl

Options :

1. % g f&argy

2. % 3f3cyc feargd
3. % Hga e

4. ¥ Yod TR gfAe

Question Number : 11 Question Id : 25498929856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A barcode is a code in the form of numbers and a pattern of parallel lines of varying widths, printed on and identifying a product.
Options :

1. #* human-readable
2. % machine-readable
3. # reader friendly

4. % optical

Question Number : 11 Question Id : 25498929856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

IRDIS TH DI g Ol AT 3R S-S ATST3 Bl THMIGR L1371 & Ue & =0 # fod 8ia g 3R fHdl Ide &t uga axar g

Options :

1. % ggHA-dead
2. ¢ ORI dSad
3. % s Wedl
4. % AiPHd

Question Number : 12 Question Id : 25498930071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following categories of testing evaluates biometric matches for fingerprints, palm prints and latent impressions, with fingerprint personnel
permitted to perform quality control steps such as sequence correction and editing of low quality images?

Options :

1. % User stories testing

2. # Lights-out performance testing

3. % Best practices performance testing

4. % Operational demonstrations

Question Number : 12 Question Id : 25498930071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Tieror ot fFafafad 3§ & feg 9oft & siqeia Swferdt, gferat & =T SR SRUP B4 &t SRS A &1 Yedie- foal SiTdl § 3R 39 Usieor o
A Sl &1 o g0 & Iural S fo 3 Tura qul 38 & UTeH, ShH JUR 3G &1 3H 8l 82

Options :

1. % JUINTHd BT TRIS BT Ge
2. % TIZCH-3M3C UG TRI&m

3. ¢ Y 31T YGRH URIE0T

4. % TTA UGRH

Question Number : 13 Question Id : 25498930306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Blu-ray Disc format uses blue laser technology. A blue laser light beamis  wavelength than a red laser.
Options :

1. # broader

2. % shorter

3. * wider

4. % gpacious

Question Number : 13 Question Id : 25498930306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

X f&% TRy et AoR dd-ite BT ST HRT § | Th i Aor TehT=T fahur A1 Ao &1 ga-T & GRUCA= RG]

Options :

1. % ﬁﬂa (broader)
2. ¥ Bt (shorter)

3. % TSI (wider)

4, % ﬁ’-‘?l'lﬁ(spacious)

Question Number : 14 Question Id : 25498930894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The total number of times per second an image on a display (computer monitor) repainted is referred to as




Options :
1. * resolution
2. % gize
3. ¥ refresh rate
4. % brightness

Question Number : 14 Question Id : 25498930894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fopeft feva (@rageR AiieR) R ufd Yo us foxdt 3fa &1 : R[ifya & &) oa Sen & CIHRSIGIE

Options :

1. # W@:{ (resolution)
2. % ISV (size)

3. ¢ RIhIXe (refresh rate)
4, % m(brightness)

Question Number : 15 Question Id : 25498931035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following material makes the electrode-plane in Liquid Crystal Display?

Options :

1. #* Indium-zinc oxide

2. % Indium-tin oxide

3. * Indium-lead oxide

4. % Indium-cupric oxide

Question Number : 15 Question Id : 25498931035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafafad @ 9 o O 9l fifes fhed fevw o saaeis-wH st 82
Options :
1. % SfETU-Nid simTgs




2. ¢ 3STu-feq siauss
3. % 3fSUA-IS HNRS
4. % YT FgURS HiFSS

Question Number : 16 Question Id : 2549899536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a form of a security breach where spyware enters the system when a suspicious link is clicked or an unknown dangerous
attachment is downloaded?

Options :

1. ¥ Phishing
2. % Keylogger
3. % Adware

4. % Trojan

Question Number : 16 Question Id : 2549899536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

%ﬁ!ﬁ@ﬁ%@ﬁ?mﬁ?&ﬂmmwméwwm el IR faTas 1 T SIRIT WA SRS SIS 81 IR WgadR Red #
Dl §?

Options :

1. ¢ IR (Phishing)

2. % W(Keylogger)
3. % W(Adware)

4, % _@GFT(Trojan)

Question Number : 17 Question Id : 2549899588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The process of copying a file (such as a game or utility) from one computer to another through the internet is known as
Options :

1. ¥ downloading



2. % uploading
3. % compressing

4. % gearching

Question Number : 17 Question Id : 2549899588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

%‘aﬁ?émmﬁrﬁﬂﬁw(@ﬁﬁﬂmmaﬁw&uﬂg@rg& SR TR DU B B UfehdT Bl & =G | ST STl
|

Options :

1. SI3AQAIST (downloading)
2. % W(uploading)

3. % mﬁﬁ(compressing)

4, % Q%T(searching)

Question Number : 18 Question Id : 25498910979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a compressed file format?

Options :

1. ¥ TAR

2. % doc

3. % .wps

4. % wpd

Question Number : 18 Question Id : 25498910979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

FaRfed A Y s T Te quifed (Compressed) Il WU 87

Options :

1. ¥ TAR

2. % doc



3. % .wps
4. % wpd

Question Number : 19 Question Id : 25498911156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Most microphones use either an electromagnetic or an electrostatic technique to convert
Options :

1. # electrical energy to acoustic energy
2. # electrical energy to mechanical energy
3. ¥ mechanical energy to electrical energy

4. ¥ sound waves into electrical signals

Question Number : 19 Question Id : 25498911156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SHIYDHTRT AT I gRafdd @3- & forg ar df faggd e ia a1 SadeRefed adb-1d &1 SUAN xd & |

Options :

1. * faggad Ioif &I @fie 3o o
2. % faggd 3ol &I Fif® 3o &
3. % gifAd I Bl faggd Ioil

4.« G T B f[dggd Tobdl A




Question Number : 20 Question Id : 25498913515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following not true with reference to creating strong password?

Options :

1. ® Never use personal information

2. % Use a longer password

3. % Don't use the same password for each account

4. ¥ Random passwords are not the strongest

Question Number : 20 Question Id : 25498913515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Tolgd UNae 9911 & e #f fafoiea # § & W g T8 82
Options :

1. % HHT W TG STHBRT BT ITIART 7 B

2. % o UGS &l YN 6

3. % UI® WA & o8 T &1 UTds &1 SUTANT 9 B

4. ¢ ISH UGS Ga Aoled T8 81d §

Question Number : 21 Question Id : 25498913614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a limitation of compressed file formats?

Options :

1. # Lossy compression

2. % Platform compatibility

3. # Processing overhead

4. % Data security

Question Number : 21 Question Id : 25498913614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



foferfad & 3 o= 9 "El'cﬂ%?f (Compressed) tIgcd PSRy || (Formats) CARSICIEE %?
Options :

1. % Qe SRR (Lossy compression)

2. % Wk prifefaferd (Platform compatibility)

3. % ORART &hTJR%_S (Processing overhead)

4. ¢ el et (Data security)

Question Number : 22 Question Id : 25498918573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In Windows 10, the Task Manager has a tab to manage which applications run on startup.

Options :

1. ¢ Startup

2. # Users

3. # Services

4. % Performance

Question Number : 22 Question Id : 25498918573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Windows 10 H, TR AR & U Ig Ueifdd B & folt U 29 g fop P 9 U@Ih T WIds U R Iad 8

Options :
1. ¢ WIE3MT (Startup)

2. % W(Users)
3. % FIIAS (Services)
4. % TRBIRAY (Performance)

Question Number : 23 Question Id : 25498918584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What does NTFS, a proprietary file system developed by Microsoft stand for?

Options :



1. # New Transparent File System
2. % New Technology File System
3. # Next Technology File System
4. % New Training File System

Question Number : 23 Question Id : 25498918584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Microsoft §RT fIhid Ueh HIfeieT1 thIsel RICH NTFS %1 &1 HAeld 87
Options :

1. # New Transparent File System (qgmﬁi‘c' hIgd ﬁl@)

2. ¢ New Technology File System (<J caIdloll hIgd RIeH)

3. ¥ Next Technology File System (:IORC RCII|IS] I Q—NCH)

4. % New Training File System (< ¢f-71 tTsdl RikeH)

Question Number : 24 Question Id : 25498922719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a text file format?

Options :

1. % doc

2. % txt

3. % rtf

4. % mdb

Question Number : 24 Question Id : 25498922719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

faffad # @S9 91 2R BIsd WU (Format) el 82

Options :

1. % doc




2. % txt
3. % rtf
4. % mdb

Question Number : 25 Question Id : 25498924038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the full form of UPS, which is a a device that supplies power to devices for a fixed amount of time without stopping even when there are problems
occurring with utility power and other power sources in a computer system?

Options :

1. % Uninterruptible Power Supply

2. % Unparalleled interruptible Power Supply
3. ¥ Uninterruptible Power System

4. % Uninterruptible Permanent Supply

Question Number : 25 Question Id : 25498924038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

UPS &1 U1 U &7 §, S Uoh U1 IUSHIUI § ot hgex Red H SUAfTAT uraR SR 37 ureR Hidl # goet g R o fom1 3o U Ffyd &
fore IuemRuT @Y faroTelt &t STYfef HRaT 82

Options :

1. ¢ 3SRV TR Twls (Uninterruptible Power Supply)

2. % WA ‘éd%@ ot YTdr i Iig (Unparalleled interruptible Power Supply)
3. % JFERVIA YR Rieq (Uninterruptible Power System)
4, % SRVIA RAMC ‘v'l'lfﬂg (Uninterruptible Permanent Supply)

Question Number : 26 Question Id : 25498924324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following directory structures is the topmost directory on the disk?

Options :

1. ¥ Base



2. % Tree
3. % Root
4. % Subdirectory

Question Number : 26 Question Id : 25498924324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafafad # 9 SH-3 Sa! a1 {5 R Jad U S1ac! 2
Options :

1. % 99

2. % ¢t

3. ¥ %C

4. % GISTIRA]

Question Number : 27 Question Id : 25498924498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An MS-Access 2019 database file has extension.

Options :

1. % dt

2. % data

3. % .accdb

4. % (dta

Question Number : 27 Question Id : 25498924498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Access 2019 SCTo IS BI TR B

Options :
1. % dt
2. % data



3. % accdb
4. % dta

Question Number : 28 Question Id : 25498925358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the full form of SMPS, which is an electronic gadget or module that comprises a combination of inductors, capacitors and semiconductor gadgets
like diodes and MOSFETs in a computer system?

Options :

1. # Silence Mode Power Supply

2. ¥ Switched Mode Power Supply

3. # Synchronous Mode Power Supply
4. # Switched Medium Power Supply

Question Number : 28 Question Id : 25498925358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SMPS &1 01 U T g, 511 Udh a1 Tole a7 AISd ¢ forH Her Ried & SIS 3R MOSFETs 91 §8dd, HURTex 3R Jidbsac foley
DT TS R BT 82

Options :

1. % o HIS UTeR WS (Silence Mode Power Supply)

2. « <8 A1 UraR IWlTs (Switched Mode Power Supply)

3. % Ry Ars gra” {-ILQ'Hi: (Synchronous Mode Power Supply)
4. % g MfSaq UraR @S (Switched Medium Power Supply)

Question Number : 29 Question Id : 25498940419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

With reference to system security, which of the following is a program that has the potential to cause serious damage to the system?
Options :

1. % Threat

2. % Attack



3. % Log

4. % Error

Question Number : 29 Question Id : 25498940419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Rren QRem & e &, fFafiied & 9 oF a1 o  forad Rew &1 1R JHar ugam &t & g2
Options :

1. a_C'(Threat)

2. % 3P (Attack)

3. % AT (Log)

4. % WX (Error)

Question Number : 30 Question Id : 25498940558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a special database that holds key information about your system, including the device drivers?

Options :

1. ¥ BOOT.INI

2. % CONFIG.SYS

3. % Windows REGISTRY

4. % SYSTEM.INI

Question Number : 30 Question Id : 25498940558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafafed # 3§ & 1 Ue R ey § forad fSagy gear ufed simud Red & aR & Agayuf sHeRt 8t 82
Options :

1. % BOOT.INI

2. % CONFIG.SYS

3. % Windows REGISTRY




4. % SYSTEM.INI

Question Number : 31 Question Id : 2549896781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard short cut in MS-Excel 2019 is used to open the Formulas tab and insert, trace, and customize functions and calculations?
Options :

.Y Alt+ M

2. % Alt+H

3. % Alt+P

4. % Alt+N

Question Number : 31 Question Id : 2549896781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THUY-TRId 2019 H Fafifad & O ford Siais Qicdhe o1 STURT BIHA ¢§ TJia- dUT HaRM 3R TUMTST & 3HC HA, o B 3R HeHZS
B & foru forar ST 82

Options :

1.¥ Alt+M
2. % Alt+H
3. % Alt+P
4. % Alt+N

Question Number : 32 Question Id : 2549897095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following services of the Internet is responsible for mappings of computer hostnames to IP addresses?

Options :

1. % Domain Name System

2. % VoIP

3. # Time services
4. % Gopher



Question Number : 32 Question Id : 2549897095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

e & Fgfafea § § o afdy HER gIReAHI (Host names) B 3EU U (TP Address) TR Y HA & forg IR 82

Options :

1. ¢ 81 99 fed (Domain Name System)
2. % 9127 (VoIP)

3. % mﬂmﬁ (Time services)

4, % Th'cl?_{(Gopher)

Question Number : 33 Question Id : 2549897226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In order to publish a file in Google Docs, the option is used.

Options :

1. ¥ publish to website

2. % publish on net

3. % publish to web

4. % paste to web

Question Number : 33 Question Id : 2549897226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Google Docs § fhd} BI8d oI Ufedwr v & forw fdepeu o1 SuA fPur Sar g

Options :

1. % UfetT1 ¢ JaSe
2. % Ufe=r 3 A
3. ¢ Ui ¢ 99

4. % U CAY

Question Number : 34 Question Id : 2549898018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

USSD in the context of BHIM (Bharat Interface for Money) stands for
Options :

1. # Unreliable Supplementary Service Data

2. % Unstructured Supplementary Service Data

3. % User Supplementary Service Data

4. % Used Supplementary Service Data

Question Number : 34 Question Id : 2549898018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

BHIM (HRd $ex%d BR T+ & Wed &, USSD &1 Juiet 31 87
Options :

1. # Unreliable Supplementary Service Data (\’Flﬁ?ﬂw W@ﬁ i3y éET)
2. % Unstructured Supplementary Service Data (W‘sﬁ m SIS éET)
3. # User Supplementary Service Data (SR Hﬁ%‘lﬁ@ gfdg @ET)
4. # Used Supplementary Service Data (IS ﬂﬁﬂ?ﬁ gfdg éET)

Question Number : 35 Question Id : 25498910685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What will be the output of following formula in MS-Excel 2019?

=AND(XOR(0,1),1)
Options :

1. ¥ TRUE

2. # FALSE

3. %2

4. ® #ERROR

Question Number : 35 Question Id : 25498910685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H FGfiIRId ®idd &7 33cYe 1 g

=AND(XOR(0,1),1)
Options :

1. ¥ TRUE

2. % FALSE

3.% 2

4. % #ERROR

Question Number : 36 Question Id : 25498910739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following wildcard characters can be used in formulas in MS-Excel 2019 while searching for sequence of characters?
Options :

1. % #

2.9 *

3.% 7

4, % |

Question Number : 36 Question Id : 25498910739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THUY-URE 2019 T JUT & SFHH o Wiel B Grg G o Fufafad 7 § forg argeesrs quf &1 Juait fasan s g 82

Options :
1. % #
2.9 *

3. % 2

4, % |

Question Number : 37 Question Id : 25498919176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Which of the following sequences is used to remove header in MS-Word 2019 document?
Options :

1. % Select Insert > Header > Remove Header

2. % Select Insert > Header > Delete Header

3. ¥ Select Home > Header > Remove Header

4. % Seclect Home > Header > Delete Header

Question Number : 37 Question Id : 25498919176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THUY-8 2019 SiFgHe T 88 B! g & forg Ruferiad & ¥ fod orha &1 SuanT fhan Srdn 82

Options :

1. ¥ T8¢ g > 7R > Rya g g
2. % SE T > e > Felie de
3% T g > 7> g e g
4. % U > g > f&dllc e A

Question Number : 38 Question Id : 25498919207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts in MS-Word 2019 is used to decrease the font size by 1 point?
Options :

1. % Ctrl + Left bracket (])

2. % Ctrl + Right bracket (])

3. % Shift + Right bracket (])

4. % Shift + Left bracket (])

Question Number : 38 Question Id : 25498919207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THTE-TS 2019 H Fufafad 7 3 f5g Slars wiche BT ST Bic HR Dl 1 3ih HH B3 b ol {1 SI1dr g2



Options :

1. % Ctrl + Left bracket (])
2. ® Ctrl + Right bracket (])
3. # Shift + Right bracket (])
4. % Shift + Left bracket (])

Question Number : 39 Question Id : 25498925225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following protocols describes how to make and receive phone calls over the internet?

Options :

1. ¥ VoIP

2. % IRC

3. % List Server

4. * Telnet

Question Number : 39 Question Id : 25498925225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafafad § 4 o I Wcield 9d1dT & fF Seie IR B Bid ol B 3R UTd 62
Options :

1. ¢ VoIP

2. % [RC

3. % foRe gaR (List Server)

4, % éﬂﬁ?(Telnet)

Question Number : 40 Question Id : 25498925253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not an essential component for connecting to the Internet?

Options :

1. % ISP



2. % Modem
3. ¥ Printer

4. % Router

Question Number : 40 Question Id : 25498925253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafafad # 9 &9 91 geve I I8 & il Uh SH1awae U ol 82

Options :

1. % 3ZUYUl (ISP)
2. % ﬂ\@q(Modem)
3. ¢ R (Printer)
4. % I$HX (Router)

Question Number : 41 Question Id : 25498925303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which group of Home tab has the option to change the alignment of text in MS-Word 2019 document?

Options :

1. % View

2. % Paragraph

3. % Tools

4. #® Edit

Question Number : 41 Question Id : 25498925303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

B <9 & g IHE T MS-Word 2019 TXITA H CRE b TXWUT (Alignment) B! dGe- &1 [ddHed g2

Options :

1. % g

2. ¢ IRIUTH




3. % T

4. % Ufge

Question Number : 42 Question Id : 25498933786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

To delete text to the left of the insertion point, press the key in MS-Word document.
Options :

1. ¥ Backspace

2. % Space

3. % Ctrl + X

4. % Escape Key

Question Number : 42 Question Id : 25498933786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THIY-TS SiagHc |, T Ulde & a5 3R CRe i f&elie oA & farg, Hoil g
Options :

1. ¥ Backspace

2. % Space

3.% Ctrl + X

4. % Escapew

Question Number : 43 Question Id : 25498938404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2019, a part of pie chart is known as a

Options :

1. % pie

2. ¥ slice

3. % part

4. % circle



Question Number : 43 Question Id : 25498938404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H, UTS I1¢ & Tb HFT &I & =g H ST STal gl

Options :

. % OIS (pie)

2. % 1Y (slice)
3. % 13|T_~’f(part)

4, % 1\:lﬁf(circle)

Question Number : 44 Question Id : 25498942476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A is a grid of rows and columns in Microsoft Excel.
Options :

1. # page

2. % document

3. #* slide

4. ¥ spreadsheet

Question Number : 44 Question Id : 25498942476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Microsoft Excel § Gfdaal 3ﬁ7 ﬁ“—hﬁ@ﬁl@%l
Options :
1. % U
2. % ZiHgAC
3. % Wlgs
4.« Teiie

Question Number : 45 Question Id : 25498942480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 labels columns in a spreadsheet as
Options :

1. % 1,2,3

2.¥ A B,C

3. % Al,BI1,Cl1

4. % 1A, 2B, 3C

Question Number : 45 Question Id : 25498942480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 ff, Treftc & Hiaq & ¥U H 3ifdhd fﬂa %I
Options :

1.% 1,2,3

2.¥ A,B,C

3. % Al,B1,Cl1

4. % 1A, 2B, 3C

Question Number : 46 Question Id : 25498942484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

To move one cell up in an Microsoft Excel spreadsheet, which of the following keys is used?

Options :

1. * Down arrow key

2. % Up arrow key

3. % Left arrow key

4. % Right arrow key or Tab key

Question Number : 46 Question Id : 25498942484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

S ate TRid BreRiie § Th Jd W oF & forg fFafafad & food Foft &1 SuanT fasar sirar g2




Options :

1. % 813 W &I

2. ¢ MW DI

3. % QU W &I

4. % ST W DI AT Pt

Question Number : 47 Question Id : 25498942496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Data is organised in a spreadsheet in the form of in MS-Excel worksheet.

Options :

1. % rows and columns

2. % length and breadth

3. % graph only

4. % chart only

Question Number : 47 Question Id : 25498942496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel g 2fie H SeT &l F ¥ H T Wrsxiic § afyd fear S g |
Options :

1. ¢ IR BIaAd

2. % YR TY

3. % Hdd U

4. % Had g

Question Number : 48 Question Id : 25498942500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In MS-Excel 2019, is an example of relative reference.

Options :

1. % $B



2. ¥ Bl
3. % B§l
4. % $B$1

Question Number : 48 Question Id : 25498942500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 ﬁ, e G (Relative Reference) T Th 3QIgRUI % |
Options :

1. % $B

2. ¥ Bl

3. * B$I

4. % $BS$1

Question Number : 49 Question Id : 25498942521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to go to the Insert tab in Microsoft Word 2019?
Options :

1. % Alt+H

2. % Alt+F

3.¥ Alt+N

4. % Alt+M

Question Number : 49 Question Id : 25498942521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MicrosoftWord2019ﬁ,ﬁé%ﬁﬁ%ﬁ%ﬁ@mﬁ-ﬁwmwmwa?
Options :

1. % Alt+H

2. % Alt+F

3.9 Alt+N



4, % Alt+M

Question Number : 50 Question Id : 25498942525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to close the Microsoft Excel?
Options :

1. % Alt+F1

2. % Alt+F3

3. ¥ Alt+ F4

4. % Alt+F5

Question Number : 50 Question Id : 25498942525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MicrosoftExcelaﬁa‘EW%mmﬁﬁmaﬁ—@émmwmwg?
Options :

1. % Alt+F1

2. % Alt+F3

3. % Alt+ F4

4. % Alt+F5

Question Number : 51 Question Id : 25498942541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to get the sum of the values of adjacent cells in Microsoft Excel 2019?
Options :

1. ¥ Alt+=

2. % Shift +=

3. % Ctrl +=

4. % Alt+-—



Question Number : 51 Question Id : 25498942541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MicrosoftExcel2019ff,WW%MWWWW%WWﬁ@W@-@@WWWWW%?
Options :

1. ¥ Alt+=

2. % Shift +=

3. % Ctrl +=

4. % Alt+—

Question Number : 52 Question Id : 25498942545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the decimal equivalent of the binary number 1101107

Options :

1. % 54

2. % 53

3. % 64

4. = 51

Question Number : 52 Question Id : 25498942545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

ISR AT 110110 BT ERHeTd A 5 T 9 =1 g1
Options :

1.9 54

2. % 53

3. % 64

4.% 5]

READING COMPREHENSION



Section Id : 2549898516
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898557
Question Shuffling Allowed : No

Question Id : 25498921391 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

I felt shy and half-paralysed in the presence of a crowd. My first day at the new school made me the laughing stock of the classroom. I was sent to the
blackboard to write my name and address. I knew my name and address, knew how to write it, knew how to spell it; but standing at the blackboard with the
eyes of so many boys and girls staring at my back made me freeze inside. I was unable to write a single letter.

“Write your name,” the teacher called out to me. I lifted the white chalk to the blackboard. But my mind suddenly went blank, empty! I could not remember
my name, not even the first letter. Somebody giggled behind me and I became stiff. “Just forget about all of us and write your name on the blackboard,” said
the teacher. A wish to write flashed through me but my hand refused to move. The children began to mock at me and my face turned red in shame. The
teacher asked gently, “Don’t you know your name?” I looked at her but could not say a word. Smiling at me to give me confidence, the teacher placed her
hand on my shoulder.

“What’s your name?” she asked.

“Richard,” I whispered.

“Richard what?”

“Richard Wright,”

“Spell it” I spelled my name in a wild rush of letters.

“Spell it slowly so I can hear it,” she said. I did. “Now can you write?” she asked. I nodded. Again I turned to the blackboard and lifted my hand to write.
BUT once again I was blank and void within. I was thinking of the girls and boys behind me so I couldn’t think or feel anything else. I grew weak and to



prevent a fall, leaned my forehead against the blackboard. The room burst into a loud laughter. The teacher asked me to go back to my seat. I sat and cursed
myself. Why did I become so nervous in a crowd? I could read and write better than anyone else, why did strange faces make me freeze?

Sub questions

Question Number : 53 Question Id : 25498921392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What happened to the narrator in a crowd?

Options :

1. #* He felt lonely.

2. % He felt happy.

3. ¥ He felt excited.

4. % He felt nervous.

Question Number : 54 Question Id : 25498921393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

How did the teacher behave with the narrator?

Options :

1. * She made fun of him.

2. % She encouraged him.

3. # She scolded him.

4. % She felt sorry for him.

Question Number : 55 Question Id : 25498921394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The narrator’s face turned ‘red’ suggests that he was:

Options :

1. #* irritated

2. ¥ embarrassed

3. % unhappy

4. ® scared



Question Number : 56 Question Id : 25498921395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The narrator spelt his name in a hurry because he:

Options :

1. % wanted to finish the conversation quickly

2. % was not sure about the spellings

3. % could not remember anything

4. % was thinking about his classmates

Question Number : 57 Question Id : 25498921396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is FALSE as per the given passage?

Options :

1. ¥ The boys and girls made fun of the narrator.

2. % The narrator was angry with himself.

3. % The narrator wrote his name on the blackboard.

4. % The narrator could read and write quite well.

Question Id : 25498921391 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498921392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

S T HUTHR o 1Y FT g3
Options :

1. % I b b 3y fobar

2. % I RN BT Hd |

3. % I IR g1F BT 3Hd foa|
4.+ I YSRIGC BT 3IHd foba|

Question Number : 54 Question Id : 25498921393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

R8T 7 HUTHR & 1Y H41 IR foram
Options :

1. % I IUPT Aol IS

2. ¢ 39 I Ulifed foa|

3. % 394 39 Siel




4. % I Yo fo1T WG garTl

Question Number : 55 Question Id : 25498921394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

FHYTHR BT IS AT 81 791 Y U1 Iad & 1
Options :

1. % qg fegr gam Tl

2.« g fHfar 1|

3. % gg g Y|

4. % gg HgHid uT|

Question Number : 56 Question Id : 25498921395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HUTHR 3T ATH B ga-t Sec aroil H Bl Fifd:

Options :

1. ¢ 98 JIddid ol Sleal WH BT Argdl UT|
2. % g 9o+ & aR H FAfEd =&t um

3. % 9g o I I1g 8l B IHT|

4. % 9g (U Gguifddl & IR H I 8T 4T

Question Number : 57 Question Id : 25498921396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

U 70 TR & AR 90 | DIH-H1 B TTed 82
Options :

1. % TSP 3R TSPl A FUTHR B HH IS
2. % HYTHR U 3T TR I 4T

3. ¢ HYTHR A 30T 71 b ars UR foraT|

4. % HYBR D! e T U 3R fora Javar Tl




QUANTITATIVE APTITUDE

Section Id : 2549898517
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898558
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ratio of the speeds of a car, train and a bus is 5 : 9 : 4. The average speed of the car, the bus and the train is 72 km/hr together. What is the average speed

of the car and the train together?
Options :

1. # 82 km/hr

2. % 78 km/hr

3. % 84 km/hr

4. % Cannot be determined

Question Number : 58 Question Id : 25498928829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

FR, 5 IR 77 F 7 ¥ g 5 : 9 1 4 Bl FR, 99 3’ &7 A v @iy dwa AT 72 km/hr B
HR AT o= H TF Ty Awg a7 G g

Options :



1 % 82 km/hr
> % 718 km/hr

3« 64 km/hr

, « fefa 7 @ 37 Tt

Question Number : 59 Question Id : 25498928977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The sum of two odd numbers is 38 and their product is 325. What is three times the larger number?

Options :

1. % 42

2. % 39

3.9 75

4, % 72

Question Number : 59 Question Id : 25498928977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

ar s wEansit #1 AT 38 MK IUETS 326 B §4 gl WEst A ¥ a3 & H O I F4
arT?

Options :
| % 42

) = 39



3 « 1D

4% 72

Question Number : 60 Question Id : 25498929081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What will come in place of the question mark (?) in the following number series?

13 6 5 6 10 ?
Options :

1. * 19

2. % 25

3. % 17.5

4.9 225

Question Number : 60 Question Id : 25498929081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafof@a & y@en § geaReEd (?) & T W a7 A7

13 6 5 6 10 7
Options :

L% 19

, % 25



;% 175

4.« 22.5

Question Number : 61 Question Id : 25498929135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The average weight of three boys B1, B2 and B3 is 60 kg, while that of B1 alone is 65 kg. The average weight of three boys B1, B4 and BS5 is 59 kg. What is
the average weight of B1, B2, B3, B4 and B5?

Options :

1. ¥ 58.1kg
2. % 582kg
3. % 583 kg
4, % 584 kg

Question Number : 61 Question Id : 25498929135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

=T w=sr B1, B2 3T B3 &r 3itwg == 60 eens B, S@fes 3ker B1 &r I 65
fraramH &1 99 @53 B1, B4 3T B5 & 3itag 3= 59 f&aEnma g1 B1, B2, B3, B4 3

B5 & 3iwd =i Fr 872
Options :

| % 58.1 TremamH

» % 58.2 ThetamH



3 % 58.3 fremema

4 v 58.4 e

Question Number : 62 Question Id : 25498929565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A card is drawn at random from a deck of 52 cards. What is the probability of getting a king or a heart or a red
card?

Options :
7
1w 13

27

25
4 % 52

Question Number : 62 Question Id : 25498929565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

arel & 52 Yeal T T8 H ¥ 912 1 U Iodl TR=oF & § T a7 81 37 Iod & TST IT 91T 0
SedT IT ATl J9T T Tl @l Sl WTiehal T 272




4% 52

Question Number : 63 Question Id : 25498929639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The distance between two stations is 192 km. Train A takes 2 hours less time than train B to cover this distance. If the average speed of train B is 16 km/h
less than that of A, then the average speed of train A, in km/h, is:

Options :
1. % 32
2. % 36
3. % 40
4.9 48

Question Number : 63 Question Id : 25498929639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

AR F TP R 192 P I SR P TAFA R TTABI SAB B AN H 2 92 HH JHI A1 81 TS T B Pt s T A BT g H 16
foprt/eieT 1 &, Y o1 A &1 3id T1fay, fopet/eiet & F1d SifoTg |

Options :




1. = 32

2. % 36

3. % 40

4.9 48

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549898518
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6

Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898559
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

'Chef is related to 'Restaurant' in the same way as 'Druggist' is related to ' "
Options :

1. * Medicine

2. % Pharmacy

3. * Store

4. * choreographer

Question Number : 64 Question Id : 25498910162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

RIS BT &R W d61 Yoy g o I8 A f-fIehar &1 '3
Options :

1. % galg

2. ¢ TR

3. % ¥R

4. % DIRGUTDBR

Question Number : 65 Question Id : 25498912952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Each of the given letters has been assigned a unique number. Select the combination of numbers such that the
corresponding letters when arranged accordingly will form a meaningful word.

E|L |5 |M|U
1 (2 (3 |14 |5 (6

Options :

1. % 4,6,3,5,2,1
2.% 4,6,5,2,3,1
3.%5,2,3,1,6,4
4.45,6,4,1,3,2
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fer 71v yAs 31aR & v fAfoy g & 918 &1 I & A & 994 389 W R 9erd et &t
dE-TaR FafR¥d &t W U 3eqof o 541

C|E|[L |5 |M|U
1|22 |4 |5 |6

Options :



1. % 4,6,3,5,2,1
2. % 4,6,5,2,3,1
3.%52,3,1,6,4
4.9456,4,1,3,2

Question Number : 66 Question Id : 25498919018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the word from the options that is similar to the given set of words in a certain way and hence belongs to the same group.

Basic : Pascal : Fortran
Options :

1. #* Cyclotron

2. % Computer

3. % COBOL

4. ® Calculator

Question Number : 66 Question Id : 25498919018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

et 979 dg TTeg 9T S Fopel R adiap @ R U 21l 3 g & GH & SR g okl g @ WshiE B

IR : IR d : RS
Options :

1. % GrgAcH

2. % PR

3. ¥ HIEIA (COBOL)
4. % paAHA

Question Number : 67 Question Id : 25498919641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Select the most appropriate description about the given set of words.

Harmattan : Chinook : Foehn
Options :

1. * Fishes

2. ¥ Birds

3. % Winds

4. ® Insects

Question Number : 67 Question Id : 25498919641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

f3T 71U Treq] & THE & IR T T I [davul &1 I8 H1 |
e : s : WigA

Options :
1. % Hafer
2. % Uaft
3. Udd
4. % I



Question Number : 68 Question Id : 25498919774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

Assertion (A): There is no vaccine for AIDS.
Reason (R): The AIDS virus changes its genetic code.

Options :

1. ¥ Both A and R are true and R is the correct explanation of A.

2. % Both A and R are true but R is not the correct explanation of A.
3. #¥ Ais true but R is false.

4. % A is false but R is true.

Question Number : 68 Question Id : 25498919774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3 faed o7 T BT S 3BT (A) 3R BRI (R) AW FHEfafad 3 dy=i & J6e § Ia B

AYHYT (A): TS & forg B8 ST Tl B
HRUT (R): TS IRRY 30 AP IS B! dgadl g

Options :

1. ¥ ASRREH TA g 3R R, A HI Ta! WHHU g |

2. % ASRREH TT § IR, AT Ta! WSHR0 81 g |
3. % AT g WIR 3T B

4. % A 3T E WIRIA I
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Correct Marks : 1 Wrong Marks : 0



Select the option that satisfies the same conditions of the placement of the dots as shown in the given figure.

)
R
&



o Y
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Options :




2. %

o o
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Question Number : 70 Question Id : 2549895310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

are dreaded evening thunderstorms in Bengal and Assam.
Options :
1. ¥ Nor Westers
2. % Mango Showers
3. % Blossom Showers
4. % The Squall Line

Question Number : 70 Question Id : 2549895310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SIS 3R 3w § gfed 81 a1a AW & YIS dfsd =g |

Options :

1. ¢ AR I
2. % T YR
3. % Y QMR
4. % Wi AT

Question Number : 71 Question Id : 25498912567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In which ecosystem is grassland included?



Options :

1. ¥ Marine

2. % Fresh water
3. % Terrestrial
4. % Artificial

Question Number : 71 Question Id : 25498912567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

g RfRUfAe! 07 SHIRReH) H U/ & HeM &I XM 51 ST g2
Options :

1. % gyl

2. % Hia19d

3. ¥ R

4. % HAY

Question Number : 72 Question Id : 25498922862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a true fish?

Options :

1. # Starfish

2. % Jellyfish

3. % Cuttlefish

4. % Dogfish

Question Number : 72 Question Id : 25498922862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fofefad & @ -, te arafds Asd 82

Options :

1. % TR




2. % SAfh
3. % HeaAhy
4. ¥ SHHY

Question Number : 73 Question Id : 25498932513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true when the interest rate in the economy goes up?

Options :

1. #* Saving increases

2. # Lending decreases

3. # Cost of production increases

4. ¥ Return on capital increases

Question Number : 73 Question Id : 25498932513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SfaRIT § oTST &R dgq 3t fRUfd H FafalRees § ¥ S19-91 uHTe I8t 781 82

Options :

1. % §9d 9¢ STal gl

2. % YR eI |

3. % I Pt ANTd 9¢ Sl ¢
4. ¢ Uoll R Ufa%hd 9¢ SITa1 g |

Question Number : 74 Question Id : 25498932597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In the Constitution of India, the right to equality is granted by five Articles. They are:

Options :

1. #® Article 13 to article 17

2. ¥ Article 14 to Article 18



3. #* Article 15 to Article 19
4. % Article 16 to Article 20

Question Number : 74 Question Id : 25498932597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

YR Tfau™ & uia srfwsel gRT SHH &1 SR e man g1 3 g 4 eH-a g2
Options :

1. % 3{Jw¢ 13 ¥ 3 w8G 17

2. ¥ TG 14 HTDq 18

3. % 3¢ 15 Y 3Jwa 19

4. % TG 16 ¥ TG 20

Question Number : 75 Question Id : 25498936892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Peninsular India has which of the following zonal soil types?

Options :

1. % Red soil

2. # Forest soil

3. % Saline soil

4. % Alluvial soil

Question Number : 75 Question Id : 25498936892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

g YRa # FufaRed § 9 fg &3 ger #1 UeR 82

Options :

1. ¢ I Hal

2. % gqHal

3. % |qUitg qar



4. % SIcllG Hal
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Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork, socializing,
decision making, independent and responsible living and more. It aids the overall development of a child and children have fun during this process
as they get to explore new arenas.
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Software as a service works through the cloud delivery model. A software provider will either host the application and related data using its own
servers and databases or it may be an independent software vendor that contracts a cloud provider to host the application in the providers data
center. The application will be accessible to any device with a network connection. Software as a service applications are typically accessed via web
browsers. As a result companies using software as a service applications are not tasked with the setup and maintenance of the software. Users
simply pay a subscription fee to gain access to the software. Software as a service is closely related to the application service provider and on
demand computing software delivery models where the provider hosts the customers software and delivers it to approved end users over the
internet. In the software on demand model the provider gives customers network based access to a single copy of an application that the provider
created specifically for distribution. The applications source code is the same for all customers. When new features or functionalities are released
they are rolled out to all customers. Depending on the service level agreement the customers data for each model may be stored locally or in the
cloud or both locally and in the cloud. Organizations can integrate these applications with other software using application programming
interfaces. For example a business can write its own software tools and use the software as a service providers interface to integrate those tools with
the cloud offering. Software as a service applications and services typically use a multi tenant approach. Which means a single instance of the
application will be running on the host servers and that single instance will serve each subscribing customer or cloud tenant. The application will
run on a single version and configuration across all customers or tenants. Though different subscribing customers will run on the same cloud
instance with a common infrastructure and platform the data from different customers will still be segregated. The typical multi tenant
architecture of these applications means the cloud service provider can manage maintenance and updates more efficiently. It also helps in fixing the
bugs faster. Rather than having to implement changes in multiple instances engineers can make necessary changes for all customers by maintaining
the one shared instance. Multi tenancy also allows a greater pool of resources to be available to a larger group of people without compromising
important cloud functions such as security and speed and privacy. Software as a service removes the need for organizations to install and run
applications on their own computers or in their own data centers. This eliminates the expense of hardware acquisition and provisioning and
maintenance of it. It also eliminates the expenses on software licensing and their installation and support. Transitioning costs to a recurring
operating expense allows many businesses to exercise better and more predictable budgeting. Users can also terminate software as a service
offerings at any time to stop those recurring costs. These service provides high vertical scalability which gives customers the option to access more
or fewer services or features on demand. Rather than purchasing new software customers can rely on the provider to automatically perform
updates and patch management. This further reduces the burden on staff.
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